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Preliminary Steps

* Follow Emergency/Accident Plan
e Make Accident Scene Safe

* Notify Proper Authorities (Law
Enforcement)

* Get Road Open to Traffic

» Designate a lead contact for the
Investigation

* Coordinate with Public Information Officer
« Start Investigation Process



Why perform an Accident
Investigation?

* Reduce future accidents.

* |dentify equipment defects.

* Legal litigation likely.

* Improve equipment design.

* Proposed Legislation.

« Story match the wreck?

» Accountability or Assign blame.




Truck got hit by a tree?




Don’t know what happened?




Equipment

 Digital Camera.

* Measuring Tape(s).

e Survey Instrument?

Drawing tools to construct a sketch.
 CAD/Computer Reconstruction Software.




External Resources

« State Police/County Sheriff’s office
 Employee Safety Officer

« Shop Mechanic — Repair Manuals
* Engineer — Vehicle Specifications
* Incident Reports

* Dr. Reports



Evidence

Physical
Evidence

Withess
Statements
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Interviews

Don’t Ask
What Happened?

Do Ask

... what did you See? Hear? Smell?

Start before the event and extend past it.

Have the witness walk through step by step.

End with opinion questions, Who or what caused...



Physmal Evidence

Pictures — High Resolution
« Start far away - Move closer
« Take lots of pictures

« Show placement with fixed permanent
object.

 Critical Pictures (Time Sensitive)
— Skid Marks
— Pavement Damage
— Debris Field
— Damaged road markings/guardrail
— Damaged signs/signal equipment
— Venhicle/Equipment???



Case Study

Influence

Witness Physical
Statements Evidence

Influence

Under Bridge
Inspection Platform.



Case Study

Influence

Physical
Evidence

Witness
Statements

Influence

Vehicle fire, recently
installed radio.



Basic Reconstruction

 Knowns
— Final resting place
— Rough starting point
— Equipment Damage

« Work Backwards
— Use evidence
— Establish position/time line
— Use model to check damage against storyline

Now review reconstruction going forward and
compare it with all the evidence.



Reporting the Investigation

* Personalize the Report.

* How will the information be used?
* Desired Tone?

» Evaluate Training Opportunities.

* Restore Crew Confidence.




Understanding Collisions

Energy Method (basic approach)

———

Newton’s law of conservation of energy.
Energy can’t be created or destroyed



Homeland Security Test




Kinetic Energy

Tanker Truck
Ke=%XmXV*"2 =W X S"2 /30
Tanker Truck Weight = 100,000 Ibs.
Speed = 60 MPH

Ke = 12M ft*Ibs.



http://www.markstaar.com/category/5.html




KE=WE (2 XmXV"2=F XD)




Motorcycle Energy Transfer
Kinetic = Potential = Work




Controls were hard to reach?
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Other Distractions?
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